1695

## OFFICE OF THE MUNICIPAL COMMITTEE JHANG Telephone & Fax No 0479200347 Email:mcjhang347@gmail.com

To

M/S Shad Construction Company

(Award Letter)

Street No. 2/A Haideria road, Gulgasht Colony Multan

No 415/Moi dated 17/7/2023

Subject:

## PROVIDING & LAYING OF TUFF PAVER IN STREET OF MC JHANG

This is with reference to your Financial Bid submitted on 23.05.2023 for execution of "Providing & Laying of Tuff paver in Street of MC Jhang after completing the process of bidding. The rate of your bid for the scheme cited as subject has been approved by the competent authority with the completion period of (17.01.2024) starting from the date of issuance of this letter as per approved items rate of Financial bid.

Your Firms M/S Shad Construction Company Street No. 2/A Haideria road, Gulgasht Colony Multan has been declared as "Successful Bidder" for "Providing & Laying of Tuff paver in Street of MC Jhang" is being technically responsive and lowest evaluation bidders.

Municipal Committee Jhang hereby accepts the bid of your Firm as per recommended by Jers Consultancy Pvt Ltd Lahore.

Sr. #	Description	Unit	Qty	Unit Rate (Rs.)	Amount (Rs.)
1	Scarifying old road surface including removal of debris within 1 chain (30 m).	100 Sft	3203.97	438.00	1,403,339
2	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:-				
	i) ordinary	1000Cft	51.82	9,260.00	479,853
3	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete.  i) 95% to 100% maximum modified AASHO	100003	60.10	1.410.00	05.22
	dry density.	1000Cft	60.18	1,418.00	85,33



4	Providing and laying sub-base course of				
	stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)	100Cft	276.34	15,170.00	4,192,078
5	Providing and laying road edging of 3" (75 mm) wide and 9" (225 mm) deep brick on end, complete in all respects.				
		Prft	8750.00	50.00	437,500
7	Providing and laying base course of crushed stone (Water Bound Macadam) of approved quality and grade including, placing, mixing, spreading and compaction of base course material to required depth, camber and grade to achieve 100% maximum modified AASHTO dry density, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)  Providing and laying Tuff pavers, having 7000 PSI, crushing strength of approved manufacturer, over 2" to 3" sand cushion i/c grouting with sand in joints i/c finishing to require slope. complete in all respect. (50% Grey / 50% Coloured)	100Cft	1,341.20	19,977.00	26,793,152
	c) 80-mm thick	Sft	430272.80	201.85	86,850,565
8	c) Dismantling cement concrete 1:2:4 plain.	100Cft	41.23	11,464.00	370,860
9	Dismantling brick or flaged flooring wihtout concrete	100Sft	129.17	885.00	21,107
10	placing, compacting, finishing and curing complete (including screening and washing of stone aggregate):				
	(f) Ratio 1: 2: 4	100Cft	74.68	36,400.00	2,718,352
11	Pacca brick work other than building upto 10ft. (3 m) Cement, sand mortar:- Ratio 1:3	100Cft	57.10	31,458.00	5,998,411
i	Pacca brick work other than building upto 10ft. (3 m) Cement, sand mortar:- Ratio 1:3	100Cft	64.26	31458.00	20,21,491



ii	Pacca brick work other than building upto 10ft. (3 m) Cement, sand mortar:- Ratio 1:3	100Cft	69.23	32708.00	22,64,375
12	Extra for pacca brick work in steining of wells or any other circular masonry.	100Cft	9.97	2,708.00	26,999
14	Cement plaster 1:3 upto 20' (6.00 m) height:-	Tooch	7,71	2,700.00	20,999
	b) ½" (13 mm) thick	100Sft	266.90	3,420.00	912,798
15	Constructing standard gully grating chamber, 3'x2½' (900x750 mm), with chinaware trap as per PHED Drawing STD/PD No. 3 of 1977, complete in all respects.	Each	65.00	16,025.00	1,041,625
16	Supplying and filling sand under floor or plugging in wells.	100Cft	24.38	2,803.00	68,337
17	Providing, fixing, testing and commissioning of μ-PVC (Unplasticized olyvinyl Chloride) Nikasi /waste pipe make of dadex / Popular / Beta/ BBJ plain / socket ended conforming to code EN-1401 of specified SDR (Standard Dimension Ratio) including the cost of specials and Solvents complete in all respect as approved and directed by the Engineer Incharge.				
_	(vii) 8"(200 mm)	Rft	725.00	427.00	309,575
18	Carriage of 100 Cft. (2.83 cu.m) of all materials like stone aggregate, spawl, kankar lime (unslaked), surkhi, etc. or 150 Cft. (4.25 cu.m) of timber, by truck or by any other means owned by the contractor. (crushed stone aggregate and bajri used in concrete items) (Lead 105 Km)	Cft	6,571.84	70.00	460,029
19	Providing and fixing RPC Manhole Cover Manufactured with 100% Reinforced Plastic Composite Material, 650 mm dia with clear opening size 600 mm (24" dia) and RPC manhole frame having dia meter 790 mm (Complete) (Certified under ISO 9001-2015)	Each	185.00	11,471.00	2,122,135
20	Old/existing Manhole cover and Frame complete set shift to MC store.				
21	Providing, fabrication and fixing pole mounted Direction Board/ road delineator of any shape and size, with specified Sheet and thickness, supported with G.I Channel, (excluding the cost of vertical post and painting) etc complete in all respect.	Set	185.00	470.00 937.00	86,950





22	Providing, fabrication and fixing Vertical Post comprising of medium quality G.l Pipe of specified diameter, including the cost of clamping arrangements, top cover, hold fasts embeded in PCC 1:2:4 etc, complete in all respect	Rít	22.00	1445.00	31,790
23	Lettering and printing of signage /direction boards/ road delineators of any colour by machine i/c cost of Digital Lettering, Lamination & pasting etc complete in all respect.	Sft	12.00	1130.00	13,560
24	Providing and fixing precast Edge Kerb Stone (4" to 6" thick), of 3500 PSI Compressive Strength, embeded in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in all respect.	Rít	450.00	503.00	226,350
25	Deduction of used bricks from original quantity	100Cft	65.38	5640.00	368,743
	ENVIRONMENTAL MITIGATION & MANAGEMENT COST				
1	Face Masks (3 PLY) - box	Nos	25.00	300.00	7,500
2	Safety Hard Helmets	Nos	10.00	3000.00	30,000
3	Safety Shoes	Nos	10.00	3000.00	30,000
4	Hand Glovesc	Nos	10.00	1000.00	10,000
5	Ear Plugs	Nos	10.00	500.00	5,000
6	Reflective Safety Vest	Nos	10.00	1000.00	10,000
7	Safety Goggles	Nos	10.00	500.00	5,000
	B-Community Health and Safety				
1	First Aid Box Co+B58:F67mplete	Nos	1.00	10000.00	10,000
2	Safety Signs	Nos	3.00	10000.00	30,000
3	Safety Cones	Nos	20.00	1000.00	20,000
4	Safety Tapes	Nos	50.00	1500.00	75,000
5	Portable Delineator with chain	Nos	3.00	2200.00	6,600
6	Emergency Portable Lights	Nos	3.00	3000.00	9,000
7	Solid Waste Collection Drums with Cover	Nos	3.00	12000.00	36,000
8	Fire Fighting Equipment Purchase and refilling	Nos	1.00	10000.00	10,000
9	BCC Campaign and waste collection system	Nos		100000.00	100,000
10	Water Sprinkling	Nos		100000 00	100 000

- The total bid price (herein after referred to as "Total Contract price" shall be governed for the completion of the entire work related to the project, as per terms and conditions set forth in the bidding documents, BOQ, Specifications, Drawings, addendums and the contract of the subject project.
- 2. The work shall be carried out by you strictly in accordance with the Scope of work as well as other terms and conditions as given in the bidding documents.
- The Contract Agreement will be executed on Rs. 10000/- (Rupees Ten Thousand) stamp paper as per specimen provided in bidding documents.



4. If the foregoing is acceptable to you, please sign and return the duplicate copy of this Letter of Award in token of your acceptance and depute your authorized representative to execute a formal contract agreement with Municipal Committee Jhang at the earliest please.

5. Joint venture agreement on legal paper & Power of Attorney in case must be provided before work order. It must be clearly mentioned on the legal paper which will be the payment account either joint venture account or individual bank account.

MUNICIPAL COMMITTEE THANG

CC:

1. The Administration, MC Jhang

The Municipal Officer (I&S), MC Jhang

On Behalf of

M/S Shad Construction Company Street No. 2/A Haideria road, Gulgasht

Colony Multan

Received, Agreed & Accepted Name: M/S Shed Cont.

Signature:

Stamped

18-07-2023 Dated: M/s Shad Construction Co

MULTAN